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Professor Mark W. Meisel

7 PLEASE PRINT and box final results. Show all work for full credit.
‘Work must be clear and unambiguous for credit.

A certain amount of water of heat capacity C is at a temperature of 0°C. It is placed in contact with
a heat reservoir at 100°C and the two come into thermal equilibrium.

'A. (2 points) What is the entropy change of the universe?

'B. (2 points) The process is now divided into two stages: first the water is placed in contact
with a heat reservoir at 50°C and comes into thermal equilibrium; then it is placed in contact
with the heat reservoir at 100°C. What is the entropy change of the universe?

C. (1 point) If we were to continue this subdivision into an infinite number of heat baths, what
would be the entropy change of the universe?
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